0.05]

Ratio

<0 0y, > (M)

<op/p. > (%)

<3 @> (rad)
o
=
(6)]

o
[N

x107°

o
N

o
””II”III”IL”“L””III”II”II””

-3 -2 -1 0 1 2 3

TP n (PCA to beamline)

o
[N

< d cot(B) >
o
[
[6)]

o
N

..........

RatioI
o

e
Sy

0 1 2 3
TP n (PCA to beamline)

[—— DQM _XIMInus_ofginar
—e— DOM_XiMinus_newbranch

—— DQM_XiMinus_original_pLess
—— DOM_XiMinus_newbranch_pLess

N
(@)

N
(@)

o

et

wEEEE

-2 -1 0 1 2 3
TP n (PCA to beamline)

H 5
1 2 3
TP n (PCA to beamline)

— ]

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


